1
A

== —
Bce getu umeroT
npaee ceo6ogHo
BLIpa¥aTk CEOM
MbiCnY

Bce petn
MMEKT NpaBo Ha
ceoboay obuwenns

3aboTta neTAmM
6e3 cemen

PeGenox
HE [I0JIKEH CTaTh
ob6beKTom
ceKcyanbHbIX
AoMoraTenbcTe

Bce getn
MMEIOT NpaBo
Ha MeaWLMHCKYH
nomous

npebLiBaloWnMm B

IIOH¢.I'WIKTB C 3aKOHOM

PeBeHok
He fonkeH BbiTe

Bce petn
MMEIoT Npaeo
Ha nony4eHue
obpazosaHua

3abora getam, .

Kaxgbin pebeHok
MMeeT Npaso
Ha nboeb
w oBLWeHne

Bce getu
ABNAIOTCA PaBHLIMMU
B MNpagax, HUKTO He
MOXET MX HapyWuTL

Bce getu
MMerT NnpaBo
Ha nony4exHue
wHopMmalmn

Ocoban
3abota
[eTAM-WHBanMaam

PebeHok
He fonKeH BbiTk
NPUHYAUTENLHO
NpUBNEYeH K
paboTe

Bce getn
MMeloT Npaso
Ha oTAbIX
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Bce getn
UMeKT NpaBo

Ocoban
3abora
AeTAM-GexeHUam

He A0oNXeH CTaTk
o6beKToM Hacunua
WK BOWHBI

Bce petn
WMelT NpaBo
Ha nonHoueHHoe
nuTaHue




